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1.21.00.80.60.40.20.0

Fiber 618, dchi2frac= 1.0



2 0 2

2

0

2

data

1.251.501.752.002.252.502.75

2 0 2

2

0

2

model

1.52.02.53.03.54.0

2 0 2

2

0

2

residuals

1.00.80.60.40.20.00.2

Fiber 4425, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0 3.5

2 0 2

2

0

2

model

1.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.20.10.00.10.20.3

Fiber 4777, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.00.10.20.30.40.50.6

Fiber 4482, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5 6

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

2 1 0 1 2 3

Fiber 315, dchi2frac= 0.9



2 0 2

2

0

2

data

1.001.251.501.752.002.252.502.753.00

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

1.00.80.60.40.20.0

Fiber 2493, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

1.251.000.750.500.250.000.25

Fiber 4918, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

2.5 2.0 1.5 1.0 0.50.0

Fiber 54, dchi2frac= 1.0



2 0 2

2

0

2

data

3.03.54.04.55.05.56.06.5

2 0 2

2

0

2

model

3 4 5 6 7

2 0 2

2

0

2

residuals

1.000.750.500.250.000.250.50

Fiber 958, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.20.3

Fiber 4945, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.10.00.10.20.30.4

Fiber 2398, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.40.20.00.20.40.6

Fiber 1400, dchi2frac= 1.0



2 0 2

2

0

2

data

2.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2.53.03.54.04.55.05.56.0

2 0 2

2

0

2

residuals

0.50.40.30.20.10.00.1

Fiber 522, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

3.53.02.52.01.51.00.50.00.5

Fiber 193, dchi2frac= 0.9



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0

Fiber 1006, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

1.21.00.80.60.40.20.00.2

Fiber 240, dchi2frac= 1.0



2 0 2

2

0

2

data

0.51.01.52.02.53.03.5

2 0 2

2

0

2

model

0.51.01.52.02.53.03.5

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.3

Fiber 1040, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6 7

2 0 2

2

0

2

model

2 3 4 5 6 7 8

2 0 2

2

0

2

residuals

1.00.80.60.40.20.00.2

Fiber 2492, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

model

2 3 4 5 6

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0 0.2

Fiber 724, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.00.10.20.30.40.50.6

Fiber 4232, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.05.5

2 0 2

2

0

2

residuals

0.4 0.3 0.2 0.10.0

Fiber 788, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0 0.2

Fiber 477, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.6 0.4 0.20.0 0.2 0.4

Fiber 4076, dchi2frac= 1.0



2 0 2

2

0

2

data

0.5 1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

0.5 1.0 1.5 2.0 2.5

2 0 2

2

0

2

residuals

0.100.050.000.050.100.15

Fiber 1134, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.70.60.50.40.30.20.10.00.1

Fiber 4709, dchi2frac= 1.0



2 0 2

2

0

2

data

1 2 3 4 5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.100.050.000.050.10

Fiber 1014, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.5

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

2.001.751.501.251.000.750.500.250.00

Fiber 743, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.5

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.30.20.10.00.10.20.3

Fiber 2768, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.0250.0000.0250.0500.0750.1000.1250.1500.175

Fiber 1, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.0

2 0 2

2

0

2

model

1.01.52.02.53.03.54.0

2 0 2

2

0

2

residuals

0.150.100.050.000.050.100.150.200.25

Fiber 2563, dchi2frac= 1.0



2 0 2

2

0

2

data

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

model

1.0 1.5 2.0 2.5 3.0

2 0 2

2

0

2

residuals

0.40.30.20.10.00.10.2

Fiber 1130, dchi2frac= 1.0



2 0 2

2

0

2

data

1.01.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1 2 3 4 5

2 0 2

2

0

2

residuals

0.6 0.4 0.2 0.0

Fiber 1268, dchi2frac= 1.0



2 0 2

2

0

2

data

2 3 4 5 6

2 0 2

2

0

2

model

1 2 3 4 5 6

2 0 2

2

0

2

residuals

0.2 0.1 0.0 0.1

Fiber 448, dchi2frac= 1.0



2 0 2

2

0

2

data

1.52.02.53.03.54.04.55.0

2 0 2

2

0

2

model

1.52.02.53.03.54.04.5

2 0 2

2

0

2

residuals

0.10.00.10.20.30.40.5

Fiber 2008, dchi2frac= 1.0


